Rt 12. 1 B Sy BTEEANR s R
An i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER] AR SR ] A ERH &EH (H) | (&)
X 46, 810[ 109, 471] 53,526] 55,945 -16]  -40 -35 61 96 -5] 488|493 0 136 136
HI—TH 672 1,428 699 729 0 3 0 1 1 7 12 5 —4 3 7
FL T H 552Il 1,314 659 655 2 0 3 3 0 3 7 4 -6 0 6
LI =TH 460] 1,029 496 533 0 0 -1 1 2 1 2 1 0 0 0
SLlAE 1,684 3,771 1,854] 1,917 2 3 2 5 3 11 21 10 -10 3 13
Sk —TH 483l 1,003 480 523 0 —4 -3 0 3 -2 4 6 1 1 0
. = 765 1,821 881 940 -1 -5 -2 1 3 -2 1 3 -1 0 1
SR —TH 549 1,314 634 680 -2 -2 -1 1 2 0 6 6 -1 0 1
S AT H 376 917 446 471 1 4 0 1 1 0 0 0 4 4 0
o h ] B 567| 1,260 617 643 -2 1 -1 0 1 1 7 6 1 1 0
BN T B 225 485 227 258 1 -1 0 0 0 -2 0 2 1 2 1
ARt TH 640l 1,643 815 828 6|  -13 -3 0 3| -10 1 11 0 0 0
oA\ T H 395 897 444 453 1 1 1 0 0 1 1 0 0 0
IV B 596| 1,439 726 713 2 -3 0 0 0 -5 5 10 2 2 0
S aatl 4,596 10,779] 5,270| 5,509 —6 —22 -9 4 13 -20 25 45 7 10 3
e n—1H 337 799 402 397 0 -3 1 1 0 -3 3 6 -1 0 1
HeEr R _ T H 935 2,011 992 1,019 -3 -5 —4 0 4 -1 2 0 4 4
HHk o —TH 686| 1,465 714 751 1 1 -2 0 2 3 6 0 0 0
Wk A AErl 1,958 4,275] 2,108] 2,167 -2 -7 -5 1 6 -1 11 12 -1 4 5
ST a1 H 577 1,255 618 637 -1 3 0 1 1 2 6 4 1 2 1
ek R _TH 367 919 478 441 0 -2 -1 1 2 -1 1 2 0 0 0
Mk R =TH 243 537 266 271 -1 -3 0 0 0 -2 1 3 -1 0 1
ik L G| 533 1,308 671 637 6 3 -1 0 1 4 7 3 0 1 1
mskr aaEtl 1, 7200 4,019] 2,033 1,986 4 1 -2 2 4 3 15 12 0 3 3
TEIT) 355 975 429 546 1 1 1 2 1 -1 1 2 1 1 0
HOEEN— T H 155 384 181 203 0 1 -1 1 2 2 2 0 0 0 0
HOEE T H 419 994 472 522 4 4 -2 0 2 3 4 1 3 3 0
HoEEI =T H 683 1,740 844 896 1 1 -1 0 1 3 8 5 -1 0 1
HOEEAN T H 734/ 1,826 897 929 6 7 0 0 0 8 10 2 -1 0 1
HEROH T H 403 979 491 488 -3 -8 -1 1 2 -5 4 9 -2 0 2
HOEEIS T H 391 941 460 481 2 5 2 0 -1 1 2 4 6 2
HoEEOETH 654/ 1,471 712 759 9 11 4 2 9 19 10 0 0 0
HOEESOSE 3,439 8,335 4,057| 4,278 19 21 -1 8 9 19 48 29 3 9 6
PEEE 1,478 2,953 1,381 1,572 0 -9 -8 0 8 0 8 8 -1 0 1
FHIAR 323 693 348 345 -3 -2 -1 1 2 -1 1 2 0 0 0
EE g —T 463 997 484 513 -1 1 -1 0 1 0 1 1 2 3 1
EE g — T 226 489 252 237 2 4 -1 0 1 3 4 1 2 2 0
R = T 491 1,138 572 566 0 -1 0 0 0 3 4 1 —4 2 6
TEE Py T 593 1,262 600 662 -1 0 2 2 0 2 7 5 —4 3 7
EEP g R T H 204 528 256 272 3 6 0 0 0 5 5 0 1 1 0
R A3 1,977 4,414 2,164 2,250 3 10 0 2 2 13 21 8 -3 11 14
EEIARRT— T H 669 1,399 661 738 3 1 1 0 5 7 2 1 1 0
EEIARRT T H 700[ 1,408 674 734 3 2 3 1 6 10 4 1 1 0
EEOARRTAE 1,369 2,807 1,335 1,472 6 16 3 4 1 11 17 6 2 2 0
RPN 309 857 479 378 -3 0 1 1 0 -1 3 4 0 0 0
WHR—TH 704/ 1,696 843 853 -1 0 1 3 2 -1 7 8 0 1 1
R T H| 1,634  3,852] 1,883] 1,969 1 -1 1 2 1 1 21 20 -3 2 5
WHR=TH 834 2,189] 1,068| 1,121 1 4 0 1 1 2 2 0 2 2 0
HHRIT H 4911 1,203 579 624 0 -1 -2 0 2 0 4 4 1 1 0
HPREEE 3,663 8,940| 4,373 4,567 1 0 6 6 2 34 32 0 6 6
HiR—TH 643 1,559 767 792 3 0 0 0 4 7 3 -1 0 1
LR - TH 884 2,184| 1,078 1,106 6 -1 0 1 10 12 2 —4 2 6
PR =TH 446 958 499 459 2 5 0 0 0 2 4 2 3 5 2
JedRAE 1,973 4,701 2,344| 2,357 11 13 -1 0 1 16 23 7 -2 7 9
T IROBTHT 323 806 382 424 -1 -2 0 0 0 -2 0 2 0 1 1
WIEl 1,598 4,955 2,269 2,686 -2 2 -3 2 5 10 12 2 -5 2 7
FRE— T H 769 1,821 901 920 1 6 0 1 1 4 9 5 2 4 2




RIC.12.1 BiE Sy AHEEADSE Pt B
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET) ] A ERsH &EH (H) | (&)

FYlE T H 700 1,854 943 911 3 0 -3 0 3 1 4 3 2 2 0
MoE =1 H 631 1,555 769 786 —4 -9 -1 0 1 -3 0 3 -5 0 5
A EN T H 901l 2,199| 1,077| 1,122 5 1 2 1 3 9 6 1 2 1
RCENNE 589 1,405 678 727 4 0 0 0 -3 1 4 7 9 2
MAESTH 411 1,022 490 532 -1 -2 0 0 0 -2 0 2 0 0 0
mAlEaEE 4,001 9,856] 4,858] 4,998 6 4 -3 3 6 0 23 23 7 17 10
VEPIe S 523 1,133 562 571 -1 -1 0 1 1 -2 3 5 1 1 0
e —TH 323 697 343 354 2 1 0 0 0 0 1 2 1
e — T H 591 1,367 661 706 0 0 0 1 1 1 -1 0 1
A gl 914/ 2,064| 1,004 1,060 2 2 1 1 0 2 2
E— 1 H 314 700 348 352 43| 45 -1 0 1 -46 106 152 2 2 0
= =T H 646 1,374 657 717 2 5 1 1 5 6 1 0 1 1
=T H 4011 1,021 513 508 1 2 0 1 1 4 5 1 -2 0 2
EAEr| 1,361 3,095 1,518] 1,577  —40[  -38 -1 2 3| =37 117 154 0 3 3
e —TH 378l 1,005 476 529 1 0 -1 0 1 1 2 1 0 0 0
HHE T H 436 1,111 559 552 2 7 2 3 1 -6 2 8 11 11 0
HWHE =T H 752 1,887 957 930 -4 -18 -2 0 ol -13 3 16 -3 2 5
W& T B 459 1,059 500 559 -3 -6 0 1 1 -5 1 6 -1 0 1
B E ] H 721 1,650 817 833 0 -1 1 1 1 4 -2 1 3
HHIENT H 220 469 242 227 3 2 -2 0 2 4 4 0 0 0
HEOEr 2,966]  7,181| 3,551 3,630 -1| __ -16 -3 5 g  -18 16 34 5 14 9
<HWE—TH 603[ 1,427 701 726 -5 —6 1 1 0 -5 0 5 -2 0 2
<HEIL—TH 705 1,530 749 781 3 -1 1 1 0 1 11 10 -3 1 4
SHBEIL=TH 502|l 1,150 567 583 -3 2 -2 0 2 4 8 4 0 4 4
<HEWLPTH 506( 1,120 561 559 0 1 0 0 0 1 4 3 0 0 0
<O T H 334 738 408 330 —4 —4 0 0 —4 4 8 0 0 0
<WEEEH 2,650 5,965 2,986 2,979 -9 -8 0 2 2 -3 27 30 -5 5 10
WIE AR —TH 778| 1,694 848 846 -1 0 1 0 1 6 5 -2 0 2
WIEAR T H 462 1,126 569 557 4 10 -1 0 1 2 4 2 9 9 0
PIEARTSE 1,240 2,820] 1,417 1,403 10 0 1 1 3 10 7 9 2
s 433 837 415 422 —4 1 -1 0 1 -6 0 8 9 1
ek —TH[ 1,012) 1,677 735 942 0 -7 0 1 1 -2 11 13 -5 0 5
e T H 399 685 324 361 -2 -5 0 0 0 0 4 4 -5 0 5
kR =T H 634 1,705 802 903 0 0 0 0 0 -1 2 3 1 1 0
sk BRI H 399 849 414 435 -2 -5 0 0 0 1 7 6 -6 1 7
o a e gl 2,444 4,916] 2,275| 2,641 -4 -17 0 1 1 -2 24 26  -15 2 17
FRIREET 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
B 779 1,833 899 934 1 3 -1 1 2 2 4 2 2 2 0
VEEE 281 669 324 345 0 -3 -2 0 2 -1 3 4 0 0 0
e — T H 410/ 1,082 551 531 3 2 -1 0 1 0 1 1 3 3 0
e T H 392 921 446 475 2 5 1 1 0 5 6 1 -1 1 2
oo B R 802|l 2,003 997 1,006 5 7 0 1 1 5 7 2 2 4 2
P — T H 611| 1,313 652 661 -2 -14 -2 0 2 -3 3 6 -9 1 10
P T H 508 1,235 586 649 1 6 2 4 2 -3 3 6 7 7 0
Ve A a1, 119 2,548 1,238| 1,310 -1 -8 4 4 -6 6 12 -2 8 10
P e 285 664 330 334 -2 -3 -2 0 2 0 2 2 -1 1 2
BEHIR 227 548 295 253 0 0 0 0 0 0 0 0 0 0




